
Lattice Multiplication

Use lattice multiplication method to �nd the product in each problem.

276 × 814  =

1) 276 × 814

790 × 153  =

2) 790 × 153

927 × 340  =

3) 927 × 340

351 × 228  =

4) 351 × 228

135 × 593  =

5) 135 × 593

462 × 617  =

6) 462 × 617

Score :Name :
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Use lattice multiplication method to �nd the product in each problem.
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927 × 340  =

3) 927 × 340

9

3

4

0

2 7

2 0 2

7 6 1

3 0 2

6 8 8

0 0 0

0 0 0

1

3

1

5

8 0

351 × 228  =

4) 351 × 228
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135 × 593  =
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462 × 617  =
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6) 462 × 617
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Answer Key
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